TH 5 £ TETPER

B4 Hyh—
A B (&) X £ 4 = 15
4
6(LX)~7(H)- ES KL (BATE) AR AHRELR fib
5 13(1)~14(RH)
14(+) LPEERE (BT E) BHELEL4—
21(+)~23(B) |REBT AL~/ (PR Bx BEX2ID  |Bhishbl L5 EHHES
17(x)~19(H) MEXEEF B
6 BIEE(B %)
17(x)~18(H) MEXESXF
28(£) ~8/4(F) |4 B8—NABF B
7 dtimE
25(K)~30(H) |48 —n1&F AT S EE
8
9 16(LX)~18(8) LIUERL (LEABRETHVI—RFEALETR) (ASEFHLNE - RBR—Y/\—5Ehbhit
TR lnExe eEEE BT EX2RTE) [EEASMAE f
10 1)
fgg o L ERBREFHVI—RFEASNETE |BHAEEAR
» 3(R)-11(1) |HEAL (LEBRYVI—BIEALETE) |EHRKS EHEHAEE FBRS
5(1+)~6(8) 2AARTFHYN—BRFEAXSHETHE A AXEEAR
o RO E T B EEmEEEER
280~ SEBRYYHI—EFHEAS BEE
13(1)-20(%)- |2EAZ BERAREAR f
27 (%)
1 200)~8(B)  |e2EBEEYvHI—BEEAS EHE
30K)~7(B) |@BABREFHvHI—BFHEAS EEE
2




	もと

